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QUESTION 1

What is the correct match sequence of the descriptions A, B and C against the titles? 

A. B, C, A 

B. A, C, B 

C. C, B, A 

D. C, A, B 

E. A, B, C 

F. B, A, C 

Correct Answer: F 

 

QUESTION 2

Your customer ships machines, and can recognize revenue for each machine after the machine has been delivered to a
customer without waiting for complete satisfaction of an entire performance obligation. How would you configure
Satisfaction Method (SM) and Satisfaction Measurement Model (SMM) in Revenue Management to recognize revenue
for these performance obligations at a point in time? 

A. by setting SM to "Allow Partial" and SMM to "Quantity" 

B. by setting SM to "Requires Complete" and SMM to "Period" 

C. by setting SM to "Requires Complete" and SMM to "Quantity" 

D. by setting SM to "Requires Complete" and SMM to "Percent" 

E. by setting SM to "Allow Partial" and SMM to "Period" 

Correct Answer: B 

 

QUESTION 3
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A pricing dimension segment value combination is one of the factors to determine standalone selling prices. This
combination is based on the pricing dimension assignment setup. 

What does the pricing dimension assignment match the pricing dimension segment combination to? 

A. pricing bands 

B. a pricing dimension structure 

C. the source document types 

D. a pricing dimension structure instance 

Correct Answer: A 

 

QUESTION 4

What is a Performance Obligation? 

A. a combination of customer type and product code 

B. a product code or SKU 

C. a promise to a customer on which either party has acted 

D. a promise to a customer 

Correct Answer: D 

https://docs.oracle.com/cloud/farel12/financialscs_gs/FAIRP/FAIRP2288193.htm#FAIRP24 56627 

 

QUESTION 5

The predefined Revenue Contract Account Activities report originally had only one output option of spreadsheet. 

Which output option can you now also choose to assist In handling a large number of records? 

A. HTML 

B. PowerPoint 

C. Flat File 

D. PDF 

Correct Answer: C 

Reference: http://www.oracle.com/webfolder/technetwork/tutorials/tutorial/cloud/r13/wn/r13- revenuewn.htm 
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